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1. Answer any THHREE of the following : (3x20- 60 Marks)

AB contractors obtain a conleact to build houses. The conltracl price is
Rs4,00,000. Work commenced on 171720 and the expenditure incurred during the
year was

Plant and tools Rs20,000, Stores and materisls Rs72,000, Wages Rs65,000,
Sundry expenses Rs5,300, Establishment charges Rs11,700.

Certain materials costing Rs12,000 were unsuiled (o the contract and were sold for
Rs14,500.

A portion of the plan( was scrapped and was sold for Rs2,300.

The value of the plant and tools on site as on 31/12 was Rs 6,200 and the value of
stores and materials in hand Rs 3,400.

Cash received on account was Rs1,40,000, representing 80% work certified.

The cost of the work done but not certified was Rs21,900 and this was certified
later for Rs25,000.

AB contractors decided (o

a. What further estimate would be incurred on the conract

b. The total profit that would be made on the contract

¢. To ¢credit to Profit and loss account that proportion of the profit which the work
certified would bear to the total coniract price.

The estimate was as follows:

a. The contract would be completed 31/ 9/21.

b. Wages of coniract in 202 [ would be Rs71,500.

c. Cost of stores and material required in addition to those in stores would be Rs
68,600 and further expenses related to the contract would amount 10 Rs6,000.

d. That a further sum of Rs25,000 would be laid out on plant and tools and the
residual value of plant and tools as 31/9/2] Rs3,000.

¢. The establishment would cost same per month as in 2020,

That 2.5% of total cost of the contract would be due to defect, lempaorary
maintenance and contingency.

Prepare contract account for the year ending 3 1/12/20 and show your caleulation
of the amount to be credited (o the profit and loss aceount for that year.

A product passes through three processes A, B and C. The expenses and other
particulars of the three processes for the year 2021 are as

under:

Process A Process B Process C
Materials {Rs) 10,00 15,000 5,000
Wages (Rs) 30,000 80,000 65,000

Direct expenses (Rs) 6,000 LE,150 27,200



Sclling per unit of oulput (Rs) 120 165 250

Naormal loss (%) 5 15 20
Scrap value per unit (Rs) 2 5 10
Actual output {Units) 9,300 5400 2,100

10,000 units at Rs100 per unit were introduced at process A. Two thirds of the
output of A and one half of the outpul of B was passed on (o the nex( process and
the balance was sold.

The entire output of process C was sold. Management expenses duriag the year
were Rs 80,000 and sclling expenses were Rs 50,000,

Preparc Y ts and a stat of profit.

. Ram Transport Co. runs 10 buses of 50 -carrying capacity and !5 deluxe
buses of 40 passengers carrying capacity within the city limits of Bengaluru.
On average, each bus makes 10 trips of 12 km. each, every day, and 75 % of the
seals are occupied. 5 buses on average arc kept away {rom the roads [or repairs
each day,
Following expenses were uncured by the company during January 2021.
| 1 Rs | Rs
Salary: works manager 10,000
25 conduectors (each)| 4,000
25 drivers {each) 5,000
10 cleaners (each) | 2,000

Repairs 11,000

[Rent, insurance, rates 8,000fDepreciation 15,000]
([Road tax 1,500Sale of oid tyre and tubes{ [,000
[Consumables stores 10,000|Diesel 50,000
[Replacement of tyres, tubes | 7.400[Lubricant 15,000
[Electricity 300f

The company intends to make a profit of 10% of takings. Calculate the cost pex
passenger-km and the passenger fare per km,

. Records of Sinit Lid. shows the following expense for the year ending 31

December 2020,
(23 Ra
Materials: Opening stock | 20,000
Purchases 13,00,000(Labour 80,000
Closing stock 60,000
Office expenses 30,0004Chargeable expense  20,000]
sales 5,00.000|Works expenses 60,000|
Marketing expense 30,000”
Annual output (units)  2,000]

The budget for the year 2021, provides a production 1arget of 1,500 uniis.
Prepare a statement of cost for the year 2020 and an estimate of cost for the year
2021 taking the following information:

- Labor cost declines by 20%

- Works overhead are variable by 40%

- Marketing expense is 70% fixed



~ Fixed works overhead are expected 1o go up by Rs 5.000
- Office expenses and fixed marketing cxpenses increased by 25%,

. Answer any FOUR of the following : (4x10= 40 Marks)

3.
6.

9.

Explain (a) Job Costing. {(b) Batch Costing.

ABC Lid produces three joint products A, B and C. the joint cost for June 202)
was Rs64,000, It is estimaled that profit on each of the joint products will be 30%,
25%, and 20% respectively. The subsequent expenses were: A Rs 3,600, B
Rs2,500 and C Rs 1.000 and sales for June 202] were A Rs 48,000, B Rs 32.000
and C Rs 20,000.

. From the following particulars, calculate Material Cost Variance, Malerial Price

Variance and Material Usage Variance.

Quantity of materials purchased is 3,000 units

Value of material purchaged is Rs9000

Standard quanlity of material of one ton of finished product is 25 units
Standard rate of material 1s Rs2 per unit

There is no opening stock of matenials

Closing stock of materials is 500 units

Finished production during the period is 80 tons.

. With the following data for 60% activity, prepare a budget for 80%

capacityProduction at 60% activity: 600 units
Direct expenses: Rs 10 per onit

Material cost: Rs 160 per unit

Factory expenses: Rs 40,000 (40% fixed}
Labour cost: Rs 40 per unit.

Administration expenses: Rs 30,000 (60% fixed)

Explain briefly the methods of accounting for by-products.

1. Answer any FOUR of the following : (4x5=20 Marks)

10. Component S is manufactured in shop No 11.

Material cost is Rs20 per component.

Each component takes 6 minutes to produce and the machine operator’s wage 15
Rsl5 per hour. The machine hour rate is Rs72.

Setting up the machine to produce the component takes 3 hours for the operator.
You are required to prepare a cost sheel showing the setting up costs and lhe total
cos! for the batch and cost per component assuming a batch size of 150
compenents.

11. What are the joint cost and splil-off points?

12. What is meant by Operating Costing? Under which overhead the following items

are classified {a) Depreciation (b) Cost of tyres (b) Repaits and (d) Supervision
charges.

13. Enumerate the advantages of marginal costing.

14. Explain the limitations of Budgetary control.
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Income Tax 41

Duration:2 Hours Max Marks:80
SECTION A
Answer any TWO of the following: {2%15=30)
1) Profit and Loss Alc of Mr Sohan for the year ending 31-03-2024

Particular Rs | Particular Rs

To General Expenses 6500 | By Gross profit 450,000

To Fire Insurance premium 5600 | By Bad debl recoverad but 4,000
allowed earlier

To Bad debls 800 | By Interest from securities 6.000

To Salary to staff 68.000 | By rent received from 12,000
amployees

To Audit fees 24,250 | By interest from debtors for 4,000
delayed payment

To Proprietors Salary 15,000 | By Commission 3,000

To Interest on Capltal 3,000

To Income tax 3000

To Depreclation 7500

To GST (Due) 3000

To advance income tax 1200

paid

To Donation 1200

To Motor car expenses 750

To Municipal taxes of 8000

quarters let to employees

To RBD 3200

To Legal Expenses 20,000

To Net Profit 3,20,000

4,79000 4,79,000
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